PLANT ENTERPRISES PRODUCTION						
Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
-	TIOUUCCIS	Acies	Acit	TIOduction	wiedsuic	value
FORESTRY						
Pulpwood						
Pine				71,199		
Hardwood					cords	
Pulpwood (Total)				74,398		
Chip & Saw				847	cords	
Saw Timber						
Pine					board feet	
Hardwood				215,137	board feet	
Saw Timber (Total)				9,335,645		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	,					\$9,518,55
Total Forestry Stumpage						\$4,671,77
Christmas Trees	20			2,000	trees	\$80,000
Forestry (Total)						\$9,598,55
FRUITS						
Blackberries	40	22.0	1,750.00	38,500	pints	\$38,500
Blueberries	20	10.0	3,000.00	30,000		\$37,500
Citrus						-
Navels	*	3.0	250.00	750	bu.	\$10,500
Satsumas	*	10.0	150.00	1,500	bu.	\$15,000
Other Citrus	*	2.0	150.00	300	bu.	\$2,400
Citrus (Total)		15.0				\$27,900
Mayhaws						
Native	35	125.0	25.00	3,125	lbs.	\$3,125
Orchard	*	10.0	40.00		lbs.	\$500
Mayhaws (Total)		135.0				\$3,625
Fruits (Total)		182.0				\$107,525

ANT ENTERDRIGED BRADUCTION DI

Page 1 of 6

PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	5,760.0	5.00	Yield / sq. ft.	28,800	lbs.	\$38,880
Greenhouse Vegetables (Total)		5,760.0					\$38,880
HAY FOR SALE							
Grass	80	12,000.0	1.50		18,000	tons	\$900,000
Hay for Sale (Total)		12,000.0					\$900,000
HOME GARDENS	39,000						\$11,700,000
NURSERY CROPS							
Floraculture & Bedding	10					acre	\$500,000
Plants							
Woody Ornamentals	*					acre	\$75,000
Foliage Plants	6					acre	\$200,000
Nursery Crops (Total)							\$775,000
PECANS							
Improved	40	225.0	100.00		22,500	lbs.	\$25,875
Native	40	300.0	45.00		13,500	lbs.	\$8,100
Pecans (Total)		525.0					\$33,975
RICE	30	12,970.0	52.00		674,440		\$3,743,142
SOYBEANS	6	2,300.0	19.00		43,700	bu.	\$290,605
SUGARCANE							
Raw Sugar	8	3,730.0	4,800.00		17,904,000	lbs.	\$2,184,288
Molasses		3,730.0	144.00		537,120	gal.	\$77,882
Sugarcane (Total)		3,730.0					\$2,262,170
VEGETABLES							
Cucumber							
Fresh	10	8.0	250.00		2,000	bu. (50 lbs.)	\$20,000
Cucumber (Total)		8.0					\$20,000
Mustard (Fresh)	10	30.0	530.00		15,900	doz. bunches	\$111,300

Page 2 of 6

PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Okra (Fresh)	20	40.0	130.00	5,200	bu.	\$104,000
Southern Peas (Fresh)	15	25.0	90.00	2,250	bu. (24 lbs.)	\$45,000
Vegetables (Total)		103.0				\$280,300
TOTAL ALL PLANT ENT	ERPRISES					\$29,730,149

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	15	1,500	Acres in Prod.	750,000	lbs.	\$487,500
Aquaculture (Total)						\$487,500
FRESHWATER FISHERIES						
Catfish (Wild)	75			11,376	lbs.	\$5,313
Buffalo	*			3,608	lbs.	\$556
Gar	50			15,903	lbs	\$14,663
Freshwater Fisheries (Total)						\$20,531
MARINE FISHERIES						
Shrimp	125			28,848	lbs.	\$34,502
Crabs	100			89,625	lbs.	\$57,539
Commercial Finfish	10			1,032	lbs.	\$1,647
Marine Fisheries (Total)						\$93,689
FUR ANIMALS				772	pelts	\$4,092
ALLIGATORS (WILD)				3,472	ft.	\$76,395
HUNTING LEASES	25	15,000	No. Acres		acre	\$82,500
]	Leased			
HONEY	15	1,500	No. Hives	210,000	lbs.	\$283,500

Page 3 of 6

CALCASIEU PARISH TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES

450

Stud Fees

Race Horses

ANIMAL ENTERPRISES PRODUCTION						
	Number of	Units of	Total	Units of	Gross Farm	
Animal	Producers	Production	Production	Measure	Value	
CATTLE & CALVES						
Steer Calves						
300-400 lbs.			6,800	head	\$2,470,916	
400-500 lbs.			5,300	head	\$2,215,427	
500-600 lbs.			1,290	head	\$592,716	
Steer Calves (Total)					\$5,279,059	
Heifer Calves						
300-400 lbs.			4,200	head	\$1,344,462	
400-500 lbs.			5,200	head	\$1,960,218	
500-600 lbs.			1,100	head	\$468,512	
Heifer Calves (Total)					\$3,773,192	
Yearling Cattle						
600-700 lbs.			1,900	head	\$988,000	
700-800 lbs.			1,500	head	\$843,750	
Yearling Cattle (Total)					\$1,831,750	
Cow-Calf Pairs			2,500	pair	\$1,800,000	
Cull Cows			4,300	head	\$1,419,968	
Cull Bulls			350	head	\$255,675	
Cattle & Calves (Total)	420	40,000 No. Cows			\$14,359,643	
HORSES						
Brood Mares						
Race Horses	450	1,500 No. Brood Mar	res 800	head	\$4,800,000	
Show Horses	400	1,000 No. Brood Mar	res 400	head	\$1,200,000	
Recreation Horses Brood Mares (Total)	100	150 No. Brood Mar	res 20	head	\$30,000 \$6,030,000	

1,500 No. Stallions

Page 4 of 6

\$2,812,500

1,125 mares bred

		AL ENTERPRISES	<u>s producti</u>			
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
HORSES						
Show Horses			No. Stallions	100	mares bred	\$150,000
Recreation Horses		50	No. Stallions	100	mares bred	\$10,000
Stud Fees (Total)						\$2,972,500
Race Horses	450			1,500	head	\$15,000,000
Show Horses	375			750	head	\$3,000,000
Recreation Horses	2,250			3,750	head	\$3,750,000
Horses (Total)						\$30,752,500
RABBITS						
Fryers	45	900	No. Animals	4,500	lbs.	\$3,600
Does	25	275	No. Animals	2,200	lbs.	\$33,000
Rabbits (Total)						\$36,600
SHEEP						
Wool		750	No. Sheared	3,750		\$600
Slaughter Lambs					head	\$29,438
Feeder Lambs					head	\$46,763
Show Lambs					head	\$68,750
Stocker Sheep					head	\$14,250
Cull Sheep				200	head	\$7,000
Sheep (Total)	100	750	No.Breeding			\$166,800
			Ewes			
GOATS						
Show Goats					head	\$45,000
Slaughter Goats					head	\$34,000
Stocker Goats					head	\$27,625
Cull Goats				200	head	\$8,400
Goats (Total) SWINE	125	750	No. Does			\$115,025

Page 5 of 6

	ANIMA	L ENTERPRISES PRODUCTI	ON		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Show Pigs			800	head	\$240,000
Feeder Pigs			2,300	head	\$41,400
Slaughter Hogs			500	head	\$61,750
Culls			150	head	\$16,500
Swine (Total)	75	700 No. Sows			\$359,650
EXOTIC ANIMALS					
Deer/Antelope	30	100 No. Animals	60	head	\$7,500
Exotic Animals (Total)					\$7,500
TOTAL ALL ANIMAL EN	VTERPRISES				\$45,797,718
CALCASIEU PARISH	TOTAL				\$76,576,073